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For the version that has:








C		BYTE	$"twelve"





�
Handout # 1 – use for problem 10 only.





.PROGRAM


.CONST


	A	BYTE	$'C'


	B	HALF	%0C


	C	BYTE	$"twelve"


	D	HALF	^01100


.CODE


		MOV	R7, R0


	W:	ADDI	R11, R0, B


		MULTI	R11, R7, D


	S:	ADD	R22, R7, R11


		SGTI	R4, R22, %FFF0


		BNEZ	R4, W


		SLT	R5, R7, R11


		BEQZ	R5, K


		JR	S


	K:	SW	R0, H, R22


		SH	R0, G, R7


		EXIT	0


.DATA


	E	DEFX	1


	F	DEFB	1


	G	DEFH	4


	H	DEFW	1


.EXTERN	


		E	XLIB


.END


�
Handout # 2 – use for problem 12 only.





Symbol Table:





identifier	size (dec)	type	value		address


X	2 bytes	hex	28


Y	4 bytes	data			0000


FAC3	4 bytes	extern			0004


Z	2 bytes	data			0008


SQR	4 bytes	extern			000C


LOC1		label			0014


LOC2		label			0020


CODE_SIZE	44 bytes


DATA_SIZE	16 bytes





Opcode Table:


	opcode  type  # opr  object


ADD     2     3     20


ADDI    1     3     10


ADDU    2     3     21


ADDUI   1     3     11


AND     2     3     26


ANDI    1     3     16


BEQZ    1     2     0A


BNEZ    1     2     0B


MOV     1     2     09


MULT    2     3     24


MULTI   1     3     14


SB      1     3     06


SGE     2     3     2D


SGEI    1     3     1D


SGT     2     3     2B


SGTI    1     3     1B


SH      1     3     07


SLL     2     3     28


SLLI    1     3     18


SLT     2     3     2A


SLTI    1     3     1A


SW      1     3     08
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